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1. Which one of the following is the Code :
correct sequence of steps followed
in accounting of transactions? fa) A B C D
q

fj Classitication-Sgurce

document-Summarization—
Recording {b) A 15 C D

(b} Source document-Recording-
Claasification-Summarization (c) A B C D

{cj Recording-Bummarization-
Clagsification—Source docament

L
&

_ fdi A J£;
{d] Source document—Classifica- 1 2 % 3
tion-Fecording-Suminarization

3. If Opening stock is Rs 10,000, Net

2. Maich List with List=Il and select purchases—REs 70,000, Wages—
the correct answer usging the code Rs 2,500, Carriage bmward—Rs 500
given below the Lists and’ Closing stocik—Rs 15,000,

) which one of the following is the
List-1 Ligt- Merchandizing cost?

A Fired asscts are 1. Going-concern
valued at cost concept
less depreciation

faj Rs 65,000

{b}) Rs 83,000
B. Appending notes 2. Materiality

regarding coniention f¢) Res 62000
contingent .
llﬂblllhE‘S in (d) Rs 73,000
accounting
statermments
C. Insignificant 3. Business entity 4. Purchases equal to
iterng ot evenis concept
having an fal Cost of poods sold + Closing
insignificant inventary — Opening inventory
cognomic effect _
fnced not be fh}  Cost of goods seld - Closing
disciosed inventory + Opening inventory

I Cash withdrawn 4. Full-digclosure (] Opening inventory + Closing

by the owner to canventinn inventary — Cost of goods said

meet personal

EXPENFES fd} Nene af the above
PDOTQ-J-DPFN/SA 2
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T

fa) A B C D
3 4 2 1

fb} A B € D
3 2 4 1

fet A B C D
1 4 2 31

fd) A B C D
1 2 4 3

3. =l W i 10,000 %o, & w4
70,000 %o, (AR{I42,500 %o, WM
TR 5000 Se T afdn W
- 15,000 %e &, M Frafafam J & $v-
U A T (ASrERh wi) §7

fa) 68,000 Bo
B) 83,000 Fo
fe) 68,000 Bo

fdj 73,000 Bo

4. FF T 2

fof  WRITrE et + wfEm e —
fama @

fd) IEE | Y g

[F.T. Q.
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5. If Assets of a business entity are

Rs 43,000, Liabilities—Rs 3,000,
Capital—Rs 40,000 on 1.3.2008
and on that date it sold goods
costing Ks 4,000 at Rs 4,500 for
cash, which one of the following is
the new accounting equation?

fa) Assets Rs 45,500 = Liabilities
Rs 3,000 + Capital Rs 42,500

{b) Asszets Rs 43,500 = Lighilities
Rs 2,000 + Capital Rs 40,500

fe}  Assets Rs 41,000 = Liabilities
NMil + Capital Rs 41,000

{d} Asgets Rs 40,500 = Liabilities
Rs 3,000 + Capital Rs 37,500

B, Given below are the income and

expenses of an entity for the
year 2007 :

Fee received in cash—Rs 24,000,
Accrued fees—FRs 6,000( Rent for
chamber paid—R= 6,000, Cutetand-
ing rent—Rs 2,000, Salary %o staff
paid—Rs 6,000, Miscellancous
expenses paid—Ks 200 and Salary
paid in advange 4o the staff—
E= 1,000

Which one“of the following is the

amountoof income under accrual
Lasis?

(@] Rs 11,800
M} Rs 30,000

ic) Rs 13,200

fd) Ra 16,800

PDTO-J-DPN /BA

7. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-1
(Method of Valuation)

A. Vailued at cost

B. Valued at cost less
amortization till
date

C. Valued at lower of
cost And market
price

D. Aaimediat cn's't less

depreciation on the
bagizs of actual
depletion of
IERCIVESR

Code :

e A B C

fo} A B

+ 0

d A B ¢

b 2

o

Lisé-i1
fAsset]

Trademaric

Gaodwill

Mines

.
Marketable
securities
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5. Afd % Fmaw W A whwehet
43,000 % §, A 3,000 Fo, Fft
1-3-2008 i 40,000 %o AW w0 fgi¥
T T 4,000 %o W AFE W oqe
4500 %o UFE § fom ==, @
Fefefiag 8 & #-w = T Qe
e 27

faf ;:rﬂamﬁa? 45,500 T = wmm
3,000 To + Tt 42,500 %o

fb) TREatai 43,500 ¥ - dg@d
3,000 %o + it 40,500 Fo

{c) TRERRET 41,000 Fo = FaAd B
=i + g=f 41,000 %o '

fd) dmmim 40,500 T =
3,000 %o + $5ft 37,500 %o

6. 99 2007 o 0 1% wa £ www awr =1
w A Rmmn g

UF T MW I 24,000 o, WL/

T=h 6,000 %, %81 & RRA 1 7
6,000 %o, FRAT fFITT 2,000 %o, Tl
! AT W YTAH 6,000 Fo, FEy =]
H PR 200 o T WG, FY S T
AR FRA 1,000 %

WIgaaR a1 S, 3%y, feffige 4 &
T -4t v, 3T, i O 20

fa; 11,800 %
{5/, 30,000 Ta
) 13,200 %o

(2 16,800 %o

P-DTQ-]-DPN/5A
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B. Match List-] with List-II and select
the correct answer using the code
given below the Lists :

Ligt-] ListJT

A. Capital 1. Money raised

expenditure by issue of
shares

B. Revernue 2. Pl‘ﬁIiIﬁil‘lﬂ.l’y
expenditure EXDENSES

C. Deferred 3. Depreciation
revenue
expenditure

D. Capital receipt 4. Freight on

rachinery
purchased
Code :
fa} A B C o
1 2 3 4

B &% B C D
2

s

fdi A B C o
3

P-DTQ-J-DFN/5A

2. Match List-] with List-[I and select
the cotrect anewer using the code
given below the Lists :

Lisg-f List=i¥
{Content) fAccounting
Standard)
A. Accounting for 10 A3
Amalgamations

Cash-flow statemernts 2. AS-14

. Net profit or loss for 3. AS-10

the period, pgor
peciod items and
changes in accounting
policies

D. Agcounting for Fixed 4. AS-5

Aszets

Code

4 A B C

b
9
N
w g

fb}

b 2
o
ol
W

fc}

o
=
>0
Mo

(d) A
3

+ m
=0
)

1D0. How is renewal fee for patent treated
as?

{e} Capital expenditure
fby Deferred revenue expenditure
fo}  Revenue expenditure

{d] Dewvelopment expenditure
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D. 4ft oify 4. wfdt & iR ™
Higl e
M A B ©C D
He : @ i 4 3

{b)

CR
o
- 0
w g

fal A

b o
L o
Sl

ic)

L
— @
+
SN

{d}

e
s w
= {7
SN

'th) A B C . D
9

_p

10, &= & Fdiw = os 1 A A 27
£l A B C D fa) o=
(b} AR g0 =1
{c} ¥ETEH =g

[ A B C D
3 1 ) T =

P-DTQ-J-DPN/SA 7 [P.T.O.
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11. Gijven, Purchases—-Rs 1,00,000,

Sales— Rs 1,280,000, Closing stock—
Es 14,000 and Manufacturing
expenses—REs 10,000, Which one of
the following is the walue of
Opening stock if the rate of gross
profit is 33%% on cost?

fa} Rs 28,000
(b} Rs 39,000
fe] Rs 37000
{d} Rs 42,000

12, X started a garment business

on 1.1.2007 with a capital of
Rs 1,000,000, Her capital on
31122007 was Rs 1,80,000.
During the period she introduced
further capital of Rs 30,000 and
withdrew from the business for
domestic purpese Rs 20,000, Which
one of the following iz the value of
her profit for the year ended
31.12.2007?

fa} Rs 70,000
(b Rs 1,70,000
fe Es 1,905,000
fd} Rs 77,000

13. If a trader’s sales amount o

Rs 18,000 and his gross profit and
net profit are 60% and 40% of sales
respectively, which one of the
following are his expenses if there is
no indirget incomes

fa) Rs 7,200
B Rs 2,500
fc/ Rs 3,600
(d} Rs 6,480

P-DTO-J-DPN/5A

14, S Ltd. has in stocik poods worth

Rs 10,000 supplied by ita parent
company H Lid. on which the latter
made a profit of 20% on cost. The
controlling interest of H Litd. in
S Ltd. is B0%. At which one of the
following amounts, the stock
should be shown ¢®in  the
Consolidated BalancesSheet?

faj Rs 10,000
b} Rs 8,000
fe} Rs 8,400
(d} Rs 7,500

15. Given, Balanpe of creditors of a firm
_as g .January 1, 2007—Rs 50,000,

Cash paid to creditors—Rs 44,000,
Bills payable accepted during the
year—Rs 10,000, Purchase returns
s 1,000 and Creditors as on
December 31, 2007—Es 15,000,
Which one of the following is the
credit purchase of the firm for the
same period?

fa} Rs 15,000
b Rs 25,000
) Rs 20,000
fd} Rsg 30,000

16, Which one of the following

trapnsactions doves not affect the
Balance Sheet totals?

fa} Purchase of Rs 5,000 supplies
on credit

fb) Payment of Rs 30,000 note

payable

fe) Collection of Rz 40,000 from
debtors

{d] Withdrawal of Rs 8,000 hy
awner
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11. *om 3—

¥ 1,00,000 %o, fEFy 1,80,000 T,
wfm =iE 14,000 Fo w0 fmin-am
10,000 %o |
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Tt Fefafga 0 % ®9-m = weies
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fa) 28,000 %

{b) 39,000 %o

fe) 37,000 %o

() 42,000 %o

12. X ¥ 1,00,000 %o Ht TR F o

1-1-2007 @& dfwE =P §E
Fm =d SR 31-12-2007 W
1,80,000 %o oft1 39 3fiy & SRR 3a4
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20,000 %o TF TENH & U =R |
smsf BTl 31-12-2007 ® TEW T
o F fon fefefEn © @ $R- 3w
v Y &1

fa} 70,000 Fo

B} 1,70,000 %o

¢ 1,90,000 %o

fd} 77,000 %o

13. 9k T = F EREL I 18,000 To §

A IEE GehE @y a7 ¥E o Ed
W FHI B0 AT 40% ¥, w TfE wrd
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fa) 7,200 %o

(b} 2,500 %o

fei 3,600 %

{d) 6,480 %o

P-DTQ-J-DPN/SA

14. § Ffrs + 10,000 %o 759 T AW
W # § W I o e i iR 3
TG W 20% Y % §1Y il 6 W H
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{a) 10,000 %o
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fc} 8,400 Fo
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15,000 %01
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fa) 15,000 %o
(b} 25,000 To
fe) 20,000 Te
{df 30,000 %o
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fa) 5,000 §e W IUN o ofd
fb} 30,000 Fe T YA W2 29

fel TR H 40,000 o i Tl
(d) wE g 8,000 Fo & HAET
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17. You have the information that X Lid.
has declared 40% dividend. Which
one of the following dees it actually
mean?

fa} X Ltd. has declared 40% of net
profit as dividend

(b} X Ltd. has declared 40% of
profits after tax as dividend

fe} X Ltd. will give dividend @ 40%
on issued capital

fd} X Ltd. will give dividend @ 40%
on paid-up capital

18. What does the balance' of joint life

policy account in thesBalance Sheet
of a partnership fimn represent?

fa) Total preminm paid to date

(B, Aonual installment of premium
payable each year

(¢} The policy’s surrender value

fdj Amount receivable on maturity

P-DTQ-J-DPN/5a

19. Considér the following :

1. Payments to preference share-
holders whe paid calls in
advance '

2.  Preference dividend

3. Payment to debenturs holders
4. Preferential creditors

Which one of the following is the
correct  orderd of, “preferential
payments of ‘the above to be
followed by the dfficial liquidater
in the event of liquidation of the

company &s per the provisions of
the! Compaftiies Act, 19567

(@) 155-34
by 3-4-2-1
e} 2-1-4-3
(df 3-2-1-4

20. Which one of the following courses

10

of action is legally availahble
t0 a company in the event of
non-compliance of  accounting
standards?

fa) The company shall report the
matter to the Institute of
Chartered Accountants of India

{7/ The company shall report
the matter to the National
Compeany Law Tribunal

fet The company shall disclose the
deviation from the accounting
standards, reason for such
deviation and the financial
effect thereof

(d) The company shall ignore it
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17. W U ¥ g1 ¢ T X felee 4 s0%
e f a1 P 88
FHI-T U AR § THH ST 27

ff X Tz 3 9@ &9 = 40%

by x fafdes 3 w0 F g il =
40% T aiftm e

(e X T frife ff w 40% f w
o A St

i X fafies pim $ft W 40% Ft @
o =

-

18, 7% WERH W ¥ ger-ud d wge e
Tt SE = g e e s
#7

fa) Tt Ten et dtitam o e
(b} Ui =Y &g T fifran-fee
fof aifenedt w1 4pndm e

fd) OfTeRa 9t W T

P-DTQ-J-DPN/BA 11
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B 34=2-1
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fd} 3-2-1-4
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F T Hhen FE il

b} HE T we AR it
=t 7 mrren foid =R
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21. Which one of the following pairs is
correctly matched? '

23. Given the following information
relating to bad debts and provision
for doubtful debts of a concern

fa} Share during a period ;

premium

Eevenue
reserve

Provision for doubtfial debts on

(b} Valuation 1.1.2007—Rs 6,000, Bad debts

- Super-profit

of shares method written off during thé eurrent
. . year 2007—Rs 1,200,/Total debtars
e} FProfit prior to : tal
fe) o 2};‘?& as on 31.12.2007<Rs 80,000.
TPe A provision for déubtiul debts to be
{d} Valuation of : Intrinsic made @ 5%
: Goodwill value

Which one of the'following amounts
is torbe, transferred to Profit and
Lass Accdunt?

22. Consider the following :

) il Rs 5200 Dr,
1. Fixed Asgsets

Investment fb} Rs 800 Cr.

Current Assets fe} Rs 2,000 Dr.
Loans and Advances

Profit and Loss Accoufit fdl Rs 800 Dr.

@ o ok W oW

Miscellaneous Expenditare
24. For which one of the following

Which one of thé fellowing is the
correct sequence of the abgve items
appearing in theWasset side of
the Balance Sheet of a company
as per Schedule VI, Part—) of the
Companies Act?

[ 1-2-3-4-5-6
) 2-1-5-3-4-6
¢} 3-1-3-5-6-4

fd) 1-2-3-4-6-5

P-DTQO-J-DFNfSA

12

purposes, the utilization of Capital
Redemption Reserve Account is
permitted?

fa} Writing off part of current
year's losses

{b) Writing off miscellaneous
expenditure like preliminary
EMPETISES

{c} Declaring cash dividends

(d) Issuing of fully paid bonus
shares
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i

22, FeiafEn o fFan Him .
1. T8r aftgmfyt

T

=] AT

M 7Y arfiy

T Y S T
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Fewrn s aren 39, 461 = W sE
77

fa) 172-24 5.5

b} \2-1-5-3-4-6

{6 2-1-3-5-6-3

(d) 1-2-34675
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25, Given the follewing information of

subscription for a period

Subscription reeeived during the
year 2007—Ra 12,000

Subscription received in advance
as on 1.1.2007-—R=s 1,500

Subscription outstanding as
o 1.1.2007—R=s 300

Subscription outstanding as
on 31.12.2007—Rs 700

Subscription received in advance
as on 21,12.2007—Rs 2,500

Which one of the following is the
amount of subscription to be
credited to Income and Expenditure
Account?

fa) Es 14,200

b)) Rs 10,700

fef Rs 11,200

{fd) Rs 9,100

26. X, Yand Zare partners in the ratio of

3:2: 0y K, a new partner, is
admitted for one-fourth share,
Which of the following statements
ithis regard are correct?

I K and Y will get equal amount

of profit.

2. Z will have to bear the lowest
amount of loss.

3. The ratic among X, ¥ and Z
will not change.

P-DTO-I-DPN/SA

27,

28.

14

Select the correct answer using the
code given below ¢

Code :
()
{b}
(e}
fd)

1, 2 and 3
1 and 2 only
1 and 3 anly

2 and 3 only

A and E are partneérs sharing profits
in the ratip of 3 : 2. C is admitted
with_one-third share in the profits.
Which one of the following is the
new profit-sharing ratic of the
partners?

fa] 3:2:3
fhy 6:4:3

fe) 6:4:5

fd} 3:2:5

A and B are partners sharing profits
in the ratio of 5 3, € is admitted.
The new profit-sharing ratio among
A B and Cis agreed at 3:2: 1.
There was a General Reserve of
Rs 18,000 before C's admission. -

The GCeneral Reserve will be

distributed

{fal among A, B and C in the ratio
of 3:2:1

{4} among A, B and C equally

{c) between A and B in the ratio
of 5:3

{d} as per sacrificing ratio
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(d} 9,100 %o

26, X, Y Z 3220 1'% FguR #§ AR

| & o 7 mEe KE - am &
oo e EEm m owm wrew A
Fraiaadaat 4 € s9-8 odt &7

1., KAy vy & 5w 0 e st
9. Z g e O R T w17

3. X, YT 2% M e | uitEd
=4 2
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4= Ry W F2 1 v w30 T W
g

Fe :

fa} 1,2 A% 3
(b} FaE 1 31 2
fc) <hae 1 3R 3
(d) o 2 3 3

27. AR B UWER T W82 % 3g0E |
s F url e w1 F -
Wi % T miE fen many fetatEn @
B FNF UF WiNGE @ A4 @ ge-
R, AT ET

fa) 3:2:3
jbi 6:4:3
fc) B:4:5

fel) 3:2:5

28, AWM B 5:3 % wIW HgWNH 3T §
weEr | c % wite frm o 4, B
M C 2:2:1 F W T WIWEH
AT W WgAd FE C H T R T
T smEm ffa & 18,000 Te @)
arar st T = o feg v
Tewar =¥
fa) A, BamCc#3:2:1 % 3gmad
(b} A, BAE CH &L
fof ATHEBWS.3 % wgom A

(@) T ST % SIEN
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29. Consider the following items of Select the correct answer using the

liahility side of Balance Sheet of a code given below
company under the head Reserve
and Surplus Code
1. Securities Premium Account faj 1 only
2. Sinking Fund : (b} 1 and 2 only
3. Capital Reserve (cj 2 and 3 only
4. Capital Redemption Reserve fd} 1,2 and 3
Which cne of the following ig the 32. The following Jouwmal Entry appears
correct sequence of appearance of in the books of F Ltd. :
the above items in the BRalance Dy Cr.
Sheet? Es Rs
Bank Accopunt 896,000
Loss on [ssue of
() 1-3-2-4 Debenture Adeouint 10,000
Te &% Debenfure Account 1,00,000
5} 3-4-2-1 " Premiurn on Redemption
afyDebenture Account 6,000
(e} 1-3-4-2 , _
At which one of the following
() 3ed1-2 discounted rs_tf:s have  the
debentures been issued?
: . f}  10%
30. Which one of the following accotints
is neutralized in the gvent of isaue b 4%
of fully paid bonus shares by a fe} 6%
<o ? '
mpany dl 10-42%

{aj Capital Resérve Account
33. A company ofiers to its shareholders

{b} Bonus to Sharcholders the right to buy one share of Rs 100

Accouth at Ks 130 for every three shares of
fe] Bhare Capital Account Rs 100 each held. The market value
of each share i3 Rs 200. Which one
{dh, Ceneral Reserve Account of the following is the value of the
right for one share?
31, Which of the following iz /are actually {aj Rs 12-50
forfeited in case of share forfeiture?
B Rs 1000
1. Money already paid (B} Rs
2. Share certificate fej Rs 12-00
3. Share capital fd] Rs 11-50

P-DTQ-J-DPN/5A 16
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29, U% A F gEA-TR % =idea g O
wnfigd Tl wen s wids & anorle
Freffis vt o fem it

1. wefa Hifirm dan
2. fram fafa

3. aft srmdtm fafd

4. sl Wem amfim A

go-19 # owdw wel = o W
Preferfin & A FH-m wn B s 3

fa] 1-3-2-4
B 3-4-3-1
fe)  1-3-4-2

) 3-4-1-2

30. O T 0 TRE SH9 0 & i
F! == # G=feiea 9 $9-m s S
vt g &7

faj 0t smida Ry T

(b} IR = A AT
(c) e sl

() e sifage il S

31. ¥ F@heedt 1 em A, frafafaa § 9
PH-H/W TRaa | S B e 3/
el ¢

1. oEer 4§ F T g
2. T T '
3. T s

P-DTO-J-DPN/BA

= R 2w v W OwE I
T :

L T3

fa) e 1

() TR 1 A2

o) et 2 &R 3

{d) 1, 23n3

32. F foide it gest § Fnaiafias sdiw $
‘Jlﬁ'% T §§ :
A (5) = (%o)
e o 96,000
= i e im0 10,000
8% oG Tl
S S T
ST 6,000

faraietigs & @ foFm w =21 = e o
&1 Frim B e

@) 10%

b 4%

c) 6%

{d) 10-42%

L, 00,060

33. TF HAE T AT FEnaiEt w100 %o
9 Wk i 3 fm, e
100 %o GFl FA 150 B ¥ 70 WA &
Ffter = wEw B owEw S o=
TN qEE 200 %ozl fafofaw § R
FA-T T BT o st e 37

{a} 12-50 %o
B 10-00 Fo
fc}  12-00 To
{d} 11-50 %e
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34. X Lltd. issued 10000, 12% 37. Which one of the following situations

debentures of Bs 100 cach at Rs 94 15 correct when creditors velocity or
on  1.1.2003 under the term creditors tumover is  higher as
that ith of the debentures are compared to debtors velocity?
redeemable anmaally by drawings. fa) Improve liquidity

Which one of the following is the L

amount of discount to be written off fo) Reduce liquidity

at the end of the year 20037 fe} Higher velocity of grioss assets
fa} Rs 20,000 | block

) Rs 40,000 fd} No impact onslignudity

¢/ Rs 66,000 . _

fc) 38. Which of the following transactions
fd} Cannot be computed will improve acid-test ratio?

1. Bills payahble dishonoured
35, X Ltd. forfeited 20 shares of Re 10 '

each on which Bz 5 per share were :
paid up. The company issued these 3. Issue of convertible debentures
shares @ Rs 8 as fully peaid up.
Which one of the following is the
amount transferred to Capiial
Reserve Account?

2. [Casheollected from customers

select the carrect answer using the
code given below :

Code
E :: :E f) 1,2 and 3
o} Rs 20 o= only
{d) Rs 100 fe/ 3 only

{d} 1 and 3 anly
36, XYZ Ltd. forfeited 5 shares of Rs 10

each issued at 10%/ premium to 39. Given, Sundry debtors—Rs 15,000,
Mr. Z {Rs 9 called up) on which he Bills receivables—Rs 12,500,
had paid application and allotment Cash at bank-—Rs 17,5300, Stock—
monegyiincluding premium} of Rs 2 Rs 13,000, Frofit—Rs 20,000,
and s 3 per share rggpeﬂtive}}r_ Cl’ﬂditﬂl’ﬁ—Rﬁ EE,UGU, Bills
Which one of the following is the payables—Rs 15,000 and Sales—
amount transferred to Share Rs 1,00,000. Which one of the
Forfeiture Aceolmt? fﬂIlDW'ing iz the acid-test Tatio?
fej Rs 10 =) 1-5:1
®} Rs 20 ) 14125 ¢ 1
fc} Rs 45 {ef 1:1-5
fd) Rs 50 (@ 1:1-125

P-DTQ-J)-DPN/SA 18
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34, X fafiE 3 1-1-2003 % 100 %o a8
10000, 12% 199 94 %o Y= T30
& wmy Erffim foeg fe L om anfds
et g A #i frefefem 8@ @
FA-H wF ufdr o 2003 F A A R
+ T8 72w § ey

fa) 20,000 %o
b 40,000 o
fc) 66,000 %o
fd) hmfm gt fen  wwm

as. x fofitz 3 vd@% 10 %« aw 20 0 =y
v AL w5 % @R wwm oW
YR feen dan wnl w3 @ i

8 %o il @ Pla w1 # Foffow
Pafrfas # & sl o ofn o
seiérg ffy e § eeimim £ wnefi?

fa) 40 %o
(b 60 %o
fc} 20 %o
fdj 100 Ba

36. Xyz fafiee 2 fre z =1 wiiF 10 5o a1
10% difiem (o %« wifi Uiy @ frffs
5 T4 1 o o 3w amdem o e
ufhv (fifim i) me 2 5o @ 3 %o
i W 3w e fem o, w= B
Freftfiad HH #9-91 v ol o wi=ht
o ey et
fal Wi %o
(b 20 Fo
fc) 45 %o

td) 50 %o

P-DTOQ-J-DFN/5A

19

a7. okl da dn-diw el e & o
TR A U9 SR rad, SEE 3
ger 1 afers 7

fap el e

b) | THeTH

fc] HET TP WUS F FEL AT
() T TR o

38. Fefafles & & #=9-w/2 =ee, wE-

Frafeor squme = gurtm fgaia?
1. e 8 fe
2. el ® U%E w18

3. Edia mmest = Frine

= M e wEin = T Tw
3fu .

ot

fa) 1, 233

b)) FEA 2

o) FEer 3

{d) ae 1 3R 3

39, femt—

ARy 2mE 15,000 %, W fam
12,500 %o, % o U%2 17,500 3o,
W 15,000 %o, TN 20000 %a,
K 25,000 %o, 3 fer 15,000 %o
w1 Tkt 1,00,000 %o

Fofaftgn A 8 - o gmE-Ruka
g &7

fa) 15:1

b 1:125; 1

el 1:15

) 1:1-125
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40. Given below are some of the items 43. If due to some circumstances, no
aof Proft and Loss Account of appointment of a new auditor or

X Company Ltd : reappointtnent of the old auditor

has been made In the anpual

Sales—Rs 1,60,000, Closing general meeting of a company, then

stock—Rs 38,000, Non-operating the
expenses—Rs 800, Non-pperating
income—Rs 4,300 and Net fa} old auditor will continue o
profit—Rs 28,000 work

{&) Board of Directors will appoint
Which one of the following is the the new suditor

i fit ratia? . i .
operating proft raba {¢) Managing Director can appbint

the auditor
fa) 18% :
{d) auvdilor may be appointed by

(B 20% ' the Cenital Government
44, Match/List-1 with List=II and select

(ef 15% the corfect answer using the code
(d 57% givén below the Lists :
List-I List-IT
41. As per the ICAl guidelines, for Type of F‘ra':.tdj. f ) mple)
minimum how rmany years an A. Suppression 1. Maling payments
auditor should maintain records of receipts against fictitious
relating to audit and other works voucher
done? B. Inflating 2. Inflating the
payments value of closing
(@} One year stock
. C. Suppression 3. Not accounting
h] F
(b) Five years of profits for receipts
(cj Seven Vears 0. Inﬂating 3. Charging items of
profits capital nature to
) Ten years revenug
Code :
42. An incre'flse in Share Premium ) A B C D
Acepurnt is 2 4 I a3
fa} an application of fund Bt A B8 C D
3 < 1 2
ft) a source of fund i A B C D
fc) na flow of fund 3 L 4 2
fd} A B C D
{d] None of the above 2 1 4 3

P-DTQ-J-DPN/54 20
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- 40, X Torh foliRs % am qu o S 8

FwEfEaANE.

faft 1,860,000 %, fRm wim
38,000 JFo, WEESW T3 BOO %o,
TATHTE 9 4,800 Fo TR E N
28,000 Fo |

fiafafgs & ¥ <9-m = T9EE oy
A &7

fat 18%
Bl 20%
fe) 15%

{d} 57%

41. ical % et et & sgem,

TENEE F Sgder & gwfin o
A T oH PE wE-d-w e
TN 7 T g

fo} "% T4
B) i
e T
(d) <T@ T™

42, W Sifiem, o ¥ glg = 8

~ {o) R o oM
(&), e = wF 9
) TR = vam Tl
(d} 39w A U T =
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4

43, AR Tz wffRf 2w, & =wh H
affs o ww # Ju Sradtas i

i @ 5y cterdes B whghs
L A

fa} TN SETHieE w9 W) =R @

(b} Tevm Avem W SaEwluw w
T wtm

fef W PaTms Samliss B Fgw W
T B

(d) TEeE v AER WU EE
oo - o &

44, §A-1 T - B g i aie
Tt & fid 9 me e o | ad
Wﬁﬁ!:

-1 -1

(Fvz & TER) (T3}
A, WG S g 1, FHEH T § PEA

B. ¥&H # 2. A w=iF % 6y &
afeagA
C. wniiFizarn 3. Wit & fg

D. it mufEdn 4. & vl f wi
we
(@}
B}
{c)

el

MR WE WE D
—~ o~ AE bW
A0 R0~ -0
wg g Bg wg
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45. By which of the following methods is
secret reserve created?

1. Charging capital expenditure
to revenue account

2. Showing contingent liability as
actual liability

3. Providing less depreciation on
fixed aszets

4. Omitting some liabilities

Select the correct answer using the
code given below !

Code :
faf 1 and 2 only
B 2 and 3 only

fe} 3 and 4 only

{d 1,2, 3 and 4

46. What is the correct sequence of the

following actions takend by 2n
auditor?

1. Physical verification of assets
2. Routine checldng

3. Preparing the audit programme
4. Vouching

Select the correct answer using the
code given below .

Code :

(aj 1-4-2-3
b) 2-1-4-3
fc] 3-2-4-1
fd) 4-3-1-2

P-DTQ--J-DPNfBA
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4'7. Balance Sheet audit is an audit in

which

{a} Balance Sheets of a number of
years are audited

{#} mudit of financial statements iz
done

{¢) audit is done at the end of the
financial year

{d) verification| of ‘assets and
liebilitigs is dome

48. ‘Teenting and'lading’ refers to which

one of the foliowing?

fz) Misappropriation of cash
receipta from dehtors

fb) Misappropriation of cash by
showing fictitious purchases

fe!  Issue of cheque when there is
insufficient bank halance

fd} Cheques received from debtors
but not deposited within
reagonable {ime

49, The termn kiting” refers to which one

of the folldwing?
fa} Non-recording of cash receipts
fo) Manipulation in bank accounts

fel Showing higher depreciation in
fixed assets

fdt Inflating expenditure

www.examrace.com




45, ¥ & ™ wgfEt % ¥ fRAs e TR 47, Gom-97 fEnder ue daman 3, fad
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1. It = = vae o # naifm
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' 7 e = 22

fa) Ed 1 ¥R 2

) ¥ 2 o s () +TeE] & 9W TFs = gt

(o) FEE 3 3N 4 ) (FT w1 T THiE OFRE W

fd) 1,2 334 s

46. TEYME ¥ B0 A W efofsn =
=T B9 WE AN 27
1. uiamfiEt =0 i arars

o} W@ &% 39 avwin ¥, @@ S @
!

) TR R uw 9% & I @m &
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3. WEOE SN N e

4, AR YHOH () 49, w= TN, frefafis § 3 i o =
fafée =m 27

R R FauE, W H= wdl I m
GG

el

fa) \ 19403

B 2-1-4-3

fc) 3-2-4-1

(d) 4+~3-1-2
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e
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50. Consider the following statements :

1. The verification of assets and
linbilities is primarily the
responsibility of the
managenient.

2.  Auditor has to satisfy that
valuation of assets has been
correctly made as pEY
accounting  standards and
generally accepted principles.

Which of the statements given
above isfare correct?

faj 1 only
(b} 2 only
fct Both 1 and 2

{d} HNeither 1 ner 2

51. Consider the following statements ;

1.  Inventory of by-product,should
be valued at lower of cost.and
net realizable valde,

2. Inventory of reusable waste
should bg valued at rew
material ‘oSt igneoring the
rEprogessing cost where
faciliies forreprocessing exist.

Whichiwof the statements pgiven
above is/are correct?

faj " 1 ondy
(b 2 only

fej Both 1 and 2

{d] Neither 1 nor 2

P_DTQ-J-DPN/SA
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52, Which of the following isfare the

advantage|s) of direct confirmation
pracedure in auditing?

1. Accurate physical wverification
of assets

2.  Ascertaining sccurate balances
of debtors, loans and'advances

3. Contralling of
expenditures

UNNECeEssary

Select the cofrechanswer using the
code givenn below :

LCode 4

fa} 1 only
fet 2 only
fc] 1 and 2 only

dj 1,2 and 3

53. Which cne of the following iz an

exampie of direct confirmation?

fa} Management gives certificate of
cash in hand

fb}  Reconciliation of bank balance

fcj Debtors certifying outstanding
balance

fef] Counting of invenionss by the
auditor
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54. Which one of the following does not
fall under audit planning [AAS—8)?

fa} Developing the andit
propramme

{b} Development of overall plan

e} Knowledge of the client's
business

{d} Performance of the peer firms

55. Consider the following steps in the
preparation of an audit programme :

1. To ascertain the nature and
scope of  audit (and) its
objectives

2. To obtaingdifferent records,
viz., articles andrnemorandum
af  associations, agreement
deeds, prospectus and other
dosuments

&, To evaluate the syatems of
keeping aceocunts and internal
¢heck and® intemal contrgl
system In operation

4. To obtain detailed list of books
of accounts and list of
personnel  responsible  for
different jolis

P-DTQ-J-DPN/5A
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Which one of the foliowing is the
correct sequence of steps involved
in the preparation of an audit
Programmer

fal
(e}
fc}

e}

1-2-34

3-4-2-1

4-3-2-1

1~3-2-4

6. Match List-I with List-0 and select
the correctanswer using the code
given helow the Lists ;

Ligi-T List-{T

(b}

fei

{d)

{Tool) fNature of Function)
A, _Test checldng 1. Physical
verification
B. Cash counting 2. Internal control
C. Division of 2. Owerall
labour assessment
D. Trend analysis 4. Selective
verification
Code :
fat A B C D

(%
o
0

&

3 1 2
A B c D
4 2 1 3
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frferfiag ¥ 8 d-w Tw S
FEFER a9 H mihe T wd agE
By :
fal 1-2-3-4
(b} 34-2-1

fo) a-3-2-1

fdy 1-3-2-4

56, THi-] W gEl-il 2 gofaw FfEy sk
Yzl e By w2 = wEm A

Hﬁﬁi&:

HEi-r Hei-11

(FraaT) (= =t TR
A, T ThEm b, iR T
B. g 6 W 2. St T
C. o =1 fver 3. maw Fafm
D. vgbn faydue 4. gFr T

FT ;

{al A B c D

A B C D
3 1 2 4
fe] A B C D
4 2 1 3
fdl A B C D
4 1 2 3
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57. Which one of the following is
maintained by the auditor t¢ record
all matters of material importance
which may require discussion with
the client and are generally used in
the preparation of his audit report?

Auditor's handbook
Audit file

fo)
{bj
fe
fdl]

Auditor’s diary
Audit notebook

S8. Consider the following functions of

purchase department :

1. Preparaticn of purchase order

2. Preparation of approved vendor
list

3. Invitation
gquctation

of  competitive

4. Preparation of debit notes for
materials returned

Which one of the following is the
correct seguence in  which) an
auditor  verifies the © Jabove
functions?

(e
b}
fc}
fd}

1-2-3-4
2-1-3-4
2-3-4-1
2=3- 14

39, If a situsticn calls for pocling the

autherity of two or more managers,
it is referred to as

fa] Spiintered authority
(b} Centralized authority
fe} Decentralized authority
{4} Recentralized authority

P-DTO-J-DPN/54
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As per AAS-15, which of the
following should be considered by
an auditer while determining the
sample size?

1. Sampling risk
2. Martket sk

3. Expected error
4. Talerable error

Select the correct answer using the
code given below ¢

Code:

fa] 1, 2,3 and 4
& 2 and 3 only

f¢)] 1,3 and 4 only

fd) 1 and 2 only

In which one of the following
meetings, the auditor of a company
has the right to attend?

{a) BEvery general meeting of the
shareholders

fbf Only those meetings where

accounts are being discussed

fe) Only annual general meetings
of the company

{d) Oniy those annual general

meetings in which the Board of

Directors wish te itvite him
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62. When an auditor certifies a firancial &4, Within which one of the following
statement, which one of the time peripds, the first auditor
following does it imply? of a newly incorporated company

should be appointed?

o) The contents of the statement

can be measured and the fa) One week

auditor has wvouched and

verified the exactness of the (b} Three weeks

data

{c}" One meonth

{b The auditor can only have an {d) Two months

overall view of the accounts

through normal audit

procedure

65. How would the suditars approve the
treafment of 'a lump sum amount

{f¢J In his opinion the financial byyway of _IEPE-iTS to a maﬂhitleiry
statements exhibit a true and damaged in the course of its
fair view of the affairs of the shilting to a new site?

organization under audit
{2} As revenue expenditure

fd} The opinion of the auditor on
the financial statements wiay
be ungualified

fb} As capital expenditure

fc] As deferred TEVETIUC
expenditure
63. Who among the following ¢an fill a {dt Nane of the above

casual vacancy caused In a

company by waylof resignation of

the auditor? 66. Which one of the following may be
the opinion of an auditor where he
{ails to obtain sufficient information
to warrant an expression of
opinion?

1

{aj Beard of Directors

(b}, Shareholders through general
mecting fa) Cualified opinion

{6 Cent A G ¢ fb}  Adverse or negative opinion
[o) entr OVETIMNLL

{e)  Disclaimer of opinion
(d] Comptroller and  Auditor
General fd) Piecerneal opinion
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62. ¥4 U& wamias fata fem o1 wmiE
a1 8, 9 T Frafafas € @ seew
s Fifea g7

) e & R = we R oan
what & ofl TaEmiaE 7 ew
ATAfGEd] F ATERE QY S
g fore 2

b) TR GdElen  FEEE B
AEiTE Tl T Sad WA g
T UaT &

fc) =& g § i o Famen
& =i W o aw 2fag
feufa =) w=fifa = &

d} orEsitees £ 1 fadw i w
AT B TR 8

63. TF FOH 0 SENSE FANET S
2 wrfar it w Fefafed i 2 2
T Tl &7

jaj FEw woEs

b} HATEE =H AT & A |
fc] &% TR

(d} Fras o5 wecETa
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64. 1F T3 Trifm worft § Prefeias 3 ¥ fe

TH TUE-3TH 5 offdl T FEeieT
it FfF | =t sfe?

(@) TF TR
b} T HHE
i) wH AT

fd} =i HiE

65. Th A W W gHE S W O gl oAl

I T @ ORgTa T W dearia!
T fmfEin & @ e o s d ol
W ] SPHET g 27

fof HETH =Y
{b) TR =
fo) Ffim w=em =
id) ST 4w T

66, I W dETiEEG ® OEr T4im gEn

ey FE g uidl & T o w il e e
=, @ v EmH F deies W
ffafian § 8 #9-w = 0@ @ oA
27

fa) TIG A
(b} Wi T AFUTE TF

fe) VA T ST BIEAT

fd) TEYZH: I

[E.T. Q.
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67, Consider the {ollowing statements :

1. Management audit is
statutorily compulsoty.

2. Management auditor can
be appointed either by Board
of Directors or by the
sharehoiders.

Which of the statements given
above isfare correct?

fa} 1 only
fb} 2 only
fcj Both 1 and 2

fd] Meither 1 nor 2

68. Which one of the following is known

as a systematic examination of
organizational structure of a
concern, its plans, objectves,
means of operation and the use of
physical  facilities and  their
constructive and comprehensive
appraisal?

fa]  Bystem audit
{bj Management audit
fc]  Statutory audit

fd] Procedural auadit

69, Which@ne of the following functions

is_ concerned with syvnchronizing
and ‘wunifying the actions of a group
ofypeople In an organication?

fa] Directing
) Conirolling
{c} Coordinating

{d] Staifing

7. With which one of the following is

force-field analysis asscciated?

fat Understanding the pressure for
and against change

(b} [ncessant coordination
between production schedule
and product distribution
schedule

fc Understanding™ the
of coordination to
promptness and avoid red-
tapism

PIOCERS
ENSLUrne

{d} Wone of the above

71, Consider the following statements :

1. Law does not make it
compulsory for a partnership
firm to be registered.

2. A partner may be admitted to
partnership without -any
capital contribution.

Which of the statements given
above isfare comrect?

fe} 1 only
fet 2 only
fe) Both 1 and 2

fed) Neitler 1 nor 2
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67. T=ftran =wet @ fem fife

1. w9 oy st e
£y

2. WY SETaaE T W e woua
T 47 SRERH 3 FEE e
T &)

I | A FE-A/ A A G 27
faj % 1

(b) HIA 2

faj 1 3 2 &t

(d) A1 3MmaT2

68. Tt menm & e A, TR

rrmet, Sy, SEmA %+ EREr g
Wi gl F I9m wE 3a Terii
T NS e F sraitd vl
Tt FAERan o 8 Ty o = o S
E IS

f) TR S

(b} a9 cETTie

fe) difas Sy

(d)  FrEfRitE vy

69, W W § G wF ¥ ¥ @)

B e SEANGE A e T
FeffEs ® @ F9-9 s wd wat
21
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70. d-83 fawmm fafvfmd e fm = @
araE &Y

() TEdR F o w oo Taeg <A
I T

(b} T ST W I A
FpE F T Froa awsw

fe} wW=a @t WY FFE 0 s

gfiftm # & fw s
TG ¥ weq o o e

(@) (Todm H | g i

71, TRt wmt o Ream &

1. & & ety amElt o % G
elte sl 96 2

2. s wERR fr fr 3o G
TrEEd & miRe 2 T B

YE | ¥ FH-T/H Tl R/
(@) FaE 1

(b} & 2

fe) 1 30T 2 2=

fd) ad@ 1A d@ 2
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T2, Mateh List-I with List-ll and select 74. In marine insurance, a pariial loss is
the correct answer using the code technically called as
given below the Lists :
fa} Warranties
List—f List-IT
CLETETE Se articular average
{Do t) {Use) (b} Particul g
A. Bill of ]Ellilng 1. Tﬂ Cﬁmf}' the {ﬂ'} Totzl loss
origin of goods
B. Cansular 2. To transport (d} Liabilities
invoice cargo by ship
C. Packing slips 1. Te inform T5. An auditar is to be appeitited by a
about the apecial resolutién
contents of the
package fa) where 23%0r more of the

subscribed capital is held,

Code : ginglyfor jointly, by a Public
o A B o Finamcial Institution
3 i 2 fBiwwhere 25% or more of the
subscribed capital is held by
&) g ]13 g Central or State Government
:‘ﬂl A B C fﬂ} where 25% or more of the
) L) 1 gubscribed capital iz held by
other institution established by
d A B C any Provincial or State Act
3 p 1 in which State holds 51%

subscribed capital
73. Consider the following statements :

d) in all of the ab ituat
Mutual funds helg the investor in ) 3 1= abave s ons
securing
1. diversiication of nisk 76. Which one of the following

P-DOT-J-DIFNJSA

2.  steady appreciation

Whaeh of the statements given
above 1s/are correct?

{a)
{6l 2 only

{c} Both 1 and 2

1 only

{d} Neither I nor 2

management thinkers argued in
favour of separating planning from
operation?

fa} Henri Fayegl
fby Luther Gulick
fep L. F. Urwick

fd} F. W. Taylor
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72. T A g @ g DR o 74, mmd A o R B B oe

Hhmt % AR Ru T e W owEn w wd = F 1 FE Al 8
F :
o fo) AT
A1 -1 | Pydvy et
(s¥ea) () @
A, TEF-fr L W % o e 3 EH
TR fd) Emmd
B. aitragdig #i9+ 2. @ g e
uitEea =
c MR 3 e fomtepn 7% T SO D Gl e
¥ uf & ot AL I
Al fa) TS 25% 7 S, A
%5z : a0 UEw wN R, wEwiTws faw
) HEPA T %
fad A B C
3 1 2 b @fET g5 W 25% W afE w1
M A B C T T TR % UH ©
2 1 3
¢t A B C fc) afEEd geit =1 25% =1 arites 34
2 3 1 eIl & 7E 8 S i T us
A B C HioFmm & smia wnfta gu fomd
3 2 1 e ot 1 51% T F IW ¢
73. Trfefza sumt oo el il fd) I it virfraieat |
Rt 9 s W
L é'ﬁﬁ;ﬁ‘ﬁﬁ'w‘ﬁmﬁmﬁ 76. By § ¥ fru vE T R 3
TETE 2 WETEH H TS & AT WA W e H g
2. o gt gffim w0 i s few &7
Fh 2
T X A/ o ad R fo)  ¥70 et
fo} ¥ 1 i) Tt T
(b e 2
(e 13w 3 2 fe  Geto T I
ey Fa 1 amado2 (d) Tho T=ge el

P-DTQ-J-DPN/SA 35 [P.T.O.

www.examrace.com




T7. The balance brought out between 80. Under which one of the following
economic and social models of conditions does false positive
decision-making as advanced hy stafling error occur?

Herbert A. Simon is called fa) Selection as well s

performance scores are high

{a} Rational model {b} BSelection scores are low and

performance sceres are high

Satisfyi 1
(b} Satisfying mode fe)  Selection scores are Wigh and

performance scores are low
¢} IDIrratonal model
(} {d] Both selecHor and > per-

formance scores atre low
{d] Satisficing model

81. Maich List-{ with List-II and select
the correcteanswer using the code

¥8. For caleulatimg which one of the given below the Lists .
following is Dr. Avkroyd’s formula . .
applied? LL.SHF LE.SHI
{Selection Step) {Objective)
{a) Living wage A. Referenee 1. Swift evaluation of
checks candidate
B. Preliminary 2. Evaluation of
fb} Fair wage -Ninterview candidate
including measur-
fc) Real and nomina! wage ing mannerismas,
vocabulary,

temperament, efc.
C. Selecton test 3. Check authenticity

provided in

application blanks
0. Comprehensive 4. Measuring 10 of

{d) Need-based minimum wage

79, Who among the iolloWwing has
chaerved that  bureancratic staff

. - . interview the candidate
increases in iRverae proportion to
the ameount of work done? Code :
fa) A B C |3
{ah, Laurence .J. Peter 3 1 4 2
B A B C D
By Peter F. Drucker 3 4 1 2
' i A B C D
fc) Warren G. Bennis 2 1 4 3
fd} A B C D
{d) Northcote Parkinson 2 4 I 3
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77. &3 Uo WgH TW waE Trloa % anfis go. frafales o @ e ™ @ 4 ammh

¥R e wiredt & 9 wmEn T HEATH FHearl-wdl (i) gf awf
TIE 1 R &7 A &7
fa) A T e I
fa) Foafr ot B o =R E el fmmE o
I &
witey
) T e} =09 =R T § o FEmes m=n
(o SR s Hak
id) =a SR e i St e €
d} wgirer wieen
@ 81, HF-1 + &I (B gEewm i &
Tl % R Ry my g2 w1 W W ool
:ﬁr{ﬁﬁ'ﬁ:
78. fafafias § & B v ) o 500 & e -
Bie UFMHME & JF H1 ggm R - i
?;q w h {=rg =T (77)
A, (o= g 1. Fafizaml =
fa) Faiz wegh AeEI JETE
B. W myweR 2. =IeEn A,
m) Im wegh TR, T
anfd =) arga &
(c) SrEAfES SR AR oeh S S
(d} STITEEH -3 “gm At ®
C. 37 s 3. AEF-vA A 4
wreTfiTeRe <ht =T
79. fPi=fafiam § 8 frud 5, d=m i 2 D. =mE MefHr 4. Wdcar 6 g
HeEEl Anen fm oo s % i & <felt 1 AT
SIS A aEd &7 e
faf A° B C D
fa] "SI wo T 1 1 4 =2
B A B C D
fbf e Tho TAR / 3 4 12
{& A B C D
fe) aTR o A 2 1 4 3
i A B € D
(d) FidmiE gifda 2 4 1 3
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B2, Consider the following stages of
planned chatge :

1. Boving
2. Refreezing

3. Unireezing

Which one of the following is the
correct sequence of the above
according to Kurt Lewin?

fa} 1-2-3
) 2-3-1
fo} 3-1-2
{dl 1-3-2

83. Match List-T with List-II and select
the correct answer using the code
given below the Lists

Lisi=I List=I
fContributor) {Leadership Styilal
A. Robert Blake 1. Four-system
and Jane madel
Mouton
B. W. J. Reddin 2. Normative
model
C. Rensis Likert 3. (Managerial grid
0. Vroom and 4. The 3-D theory
Yetton
Code ;
fa} A B C D
3 d 1 2
) A B C D
3 1 4 2
il A B C D
ph 1 4 3
fdl A B C D
2 4 1 3

P-DT(=J-DFN/5A
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84, Which one of the foliowing is not a

dimengion of the managenal prid
theory of leadership?

{¢) Country club management
(2] Impoverished management
fe} Team management

{d] Entrepreneurship management

85. Which one of the following is the
corTect sequerice with' regard to
communication process?

fa] SenderMessape FEncoding—
Regeiver—Channel-Decoding—
Feedback

fbly, Méssage-Sender-Encoding-
Receiver-Channel-Decoding—
Feedbacl

{e}] Encoding-Message—Sender-
Decoding-Feedback-Receiver-
Channel

{d} Sender-Message-Encoding-
Channel-Receiver-Decoding—
Feedback

86. Gangpiank theory of communication,
advanced by Henri Fayol, is an
example of which one of the
following?

{a} Vertical upward communi-
cation

f} Wertical downward communi-
catinn

fe)  Lateral or horizontal communi-
cation

{d} Cyeclic or cireular communi-
cation
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82. AiAwE UEdd & Pofafra st wm
o= Hifan .

1. Had=

2. TThieH
3. arhieH

wE T & AR, IWG @ et
TR WA T Y ST EY

@) 1-2-3

@} 2-3-1

el 3-1-2

fd) 1-3-2

83, ¥-1 = g § gifew $ifm ok

et & 4 R w2 = o W o

Eﬁﬁﬁl{:

eI Y=i-I1
{(Frrara) (e i)

. U =A% e 1 Sgelten vREm
A&

S e tR 2. weEmahEg

. i Tast 3. e e
. W R T 4. fafew firgr«
L T
fo} A B o D
2 4 1 2
#h AM) B € D
3 1 4 2
fel A B C D
2 1 4 3
fd} A B < D
2 4 1 3
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84, Pfafgs % & =@ @ g &
vaasg s R «t fawaw T 87

fa} <t =8 TEY
b} aitsfiiorT vy

fe} ¥\ wEw
fd} AT T

8S. 990 YEFM % arawy B Pefefa § 3
- R T HE ATFT 87

fa) SF—ER AR —aTH AT
[ELETE ML

() | HRT—F—TehaA--THH Wi
Rremr-—viagk

fo)  TRETA-EeY—Nneh- e s
wigfe et

fd} - Al
Prerm-wiaf

§6. #0 PaTa g wiwarien den # e
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BT7. Maich List-I with List-I and select Which one of the following is the
the correct answer using the code correct hierarchy of the above
given below the Lists : needs from low order to high order?

List=] List-[T {fal 1-4-3-2-5
{Thecry of {Contributor)
Mativation) b 4-1-3-2-5

X, Y theory . Frederick Herzberg fe} 5-3-2-4-1

Expectancy . J. Stacey Adams fd) 4-1-2-5-3
theory

Two-factor . Douglas McGregor 89. Under which aof " the  following
theory situations must dissolution of

1 7
Equity theory 4. Victor Vroom partnership taxe, place:

1. At theexpiry of the term

Cade : 2, Ong the completion of a
particular adventure

) A 90 death, insclvency or
3 retirement of a partner

: Select the correct answer using the
(b} A _ _ code given below :

2
Code ;

{c)
fa} 1,2 and 3

fb} 3 only
fe) 2 and 3 only

fd} 1 and 2 only

88. Maslow's nééd-hierarchy theory of

motivatién, “has  classified the

human ‘needs into fellowing five
categories . :

90. Which one of the following iz not
included by Henry Mintzberg in the

. depiction of managerial roles?

1., Safety needs

fa} Interpersonal role
Esteem needs

. formational rof
Social needs (b} Tnfa © ©
Physiological needs {e] Degigsional role

Self-actualization needs {d) Organizing role

P-LTO-I-DPN/GA
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87. g W g & gafdw e ot

gt & 9 Ry m 5 = w5 o
ﬁ'{ﬁﬁﬂ_:
-1 gefi-11

{srierimm =1 famr) (A rETrEal)
A. X, ¥ g 1. s gaan

B, yemm g 2. o Wt o
C. -w= g 3.z feEum
D. @ figra 4. Frem

L T

fal A B C D

(Bt A B C D

fof A B C D

d & B C

.mu

88. &=l ¥ PGl ¥ srawEdl- ey
e 4 agm ) sEwmEme @)
Frafaliad wig Hiieat § wifza fer =
%

L, T AR
TR AT
I AEYaTR
BIOED G Ce B UE T 1]
wre -t ey

mo Y
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Ffafs & 4 Fh-a o, Tow
FEEEAS T e 8 I
TH arfern 27

fa) 1-4-3-2-5
b} 4-1-3-2-5
fo) 5-3-2-4-1
{d) 4-1-2-5-3

89, Frafafm ifefRah, 1,3 few/fm 4

TRIEH & WA e e 27

1. ErE-3aEi & @ 21 W

2, P SRR % e 9

3. WrEn R we, Tenftmrw st
GEIZEC I

T Tn W fz W oW = oad I
g ;

e !
faj 1, 2303
(b} #&H 3

fe) FaEE 2 #in 3
fd) e 1 22

90. wEREET YEEed & faw # Sl figead

0 freiiea § @ P @ o= e
T T T 29

laj @SatER i

(b} AT v
(o) Tutarerr gfigar

fdj TR R

[P.T. O.
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91. Which of the bllowing is/are correct
regarding coordination?

1. Coordination sannot ke
voluntarily produced by a
number of COOperating persons.

2. Coordination is, for the most
part, the result of woluntary
attitudes on the part of people
in an organization.

3. Coordination is a far mare
inclusive term embracing the
idea of copperation.

Select the corrzct answer using the
code given below !

Code :

fz) 1 and 2 only
by 1 and 3 only
fc) 2 only

{d} 1, 2 and 3

92. Who among the following  has
advanced ithr Power, Affiliation/and
Achicvernent motivation goncépt?

fa) J. Stacey Adams
fh} B. F. Skinner
fe)  Victor Vicom

fd} David €. WMcClelland

93. Whigh one of the following is not a
methodinf performance appraisal?

fe} Grading method

fB) Behaviourally-anchored rating
scale method

fof Forced distribution method

{d) Paired comparison methad

P-DTOQ-J-DPN/SA
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94. Consider the following staternents
about individual incentive system :

1. Individual incenbive plans are
used more frequently than
organization-based plans.

2. Individual plans car
sometimes cause undesirable
competition 2mong peérs.

Which of the slatements) given
above igfare not correct?

fa} 1 only
fb} 2 only
{z) Boéth 1 amd 2

(@) “Neither 1 nor 2

95. How rtan a subsequent auditor be
removed from office before the
expiry of his term?

fa) With the prior approval of the
Company Law Bopard

(b} With the prior approval of the
Central Governtrent

fc) S'impnlg,-r by passing resolution in
the Board of Directors meeting

{d} With the prior approval of the
Registrar of the Companies

96. Which one of the following is an
analytical method of job evaluaton?

fa) Classification method
fb)  Foint-rating method
fc} Projection method

fd} Ranking method

www.examrace.com




91, Feftfem # @ =m-m/R, wmE ¥
T 7w 8/E
1. W, &5 HEm 3 wgan safe
T VR T A Y o e o
T |

2. TWEE UG Uh A0S4 @ &
R @ UErE iyt = iy
B

3. "T=g, EEr § fEw ow oiften
FX Aren Fat 3fies s v

4 fer e g7 W W oW @l T
g

=

(@} waw 1 i 2

(b} FW | 23

fc) 4 2

i) 1, 2 ¥R 3

92. fr=feftan & & fred wfiftw & ik,
TR adl SUElE RO g
femar?

fa} We Wil vzw

b} Mo tHe fEFm

(o) Tt gm

d) 2fe e TR

93. FfAfEd d o =6-1 s B g
# ooty At 27

fay, Bofro wglft

b)), wmEEE: SRy we-TEier aeh
vgf -

{e) anfér T w2y
{d} 1fWs goen v
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94, =T TR ST & few § B

Wﬁq{ﬁ‘?ﬁﬁﬁﬁq:

1. =fFwmg  wiomgr e, we
i et it omm e
s mm B A 8

2. frrE Tad it Tt B
e in S o v S B
Tl B

94w T A -7/ o wet A 2787
faj FFE0 1

{b) e 2

oo I P e

(i, Al LT d o

Q5. \F IuTad] qETied = W e O IHd]

wErETy Fih @ 7 8 g i gar 27
fa) wrt fftr 9 & od sgdeT @
B VR T F O e

i) TRms € 41 95% ¥ wamw
i =2k

{d) g UsiEs % g e 3

96. i # 3 F1-2 wr W aeaeT &

freeomens: f 27
fa) it Tgia

fby  wE-Trafom ugly
fe) T wgfd

{d) Ao Tgiy
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97. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :

L.

List-d

{Contributor]

Mary Parker
Follett

Henri Fayol

Elton Mayvo

F. W. Taylor

Cade ;

fal A
B) A
fe} A

(d A

o
'

List-II
{Management

Thought/ Theory)

Human relations

Integration theory

Scientific manage-
ment

14 principles of

IMENAZETIETIE
c

4 2

C D

1 3

< D

4 3

C D

1 2

98. Identify the correct sequence of the
following with regard to delegation
oftauthority :

P-DTO-J-DPNf5A

1, Creation of obligaticn

2.  Authorization of actions

3. Determination of
results

expected

4. Assignment of duties

Select the correct answer using the
code piven below :

{ode :

fa) 3-2-4-1
B 1-2—4-3
fc}  1-4-2-3
fd) 3-4-2-1

99, Consider the folldwing | statements

with regard /o “management by

objectives’ :

1. Owverall objectives are set =at
the top of the organizational
hierarchy.

2. Individual objectives caincide
with the objectives of the
organization.

3. Performances of employess ars
evaluated periodically.

Which of the statements given

above isfare correct?
L

for 1,2 and 3
fd 2 and 3 only
fe} 1 and 3 only
{d) 1 only

100. A private company having been

altered into a public company must
file a prospectus or statement in
lieu of prospectus to the Registrar
within a peried of

fap 30 days
(bl 21 days
{el 15 days
fd] 7 days
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D. who s=go T 4. W4 ¥ 14 frgea 99. ‘W ¥ AR TN Feohm F
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2 4 1 3 &
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2 1 48 {b) =0 2 AN 3
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wiafda g &, R F wm feeh ety ‘
98. VIR %AW & arey o el ¥ a2 REm-vEE T EEm-ut & |
% ] STIENE Trai T T A w Y ETee St e 27 |
o, wfieT w1 e fa} 3ofA ‘
20 T FT WTiEER b 21 &=
3. wenkm afom @ Fafon fe} 157
4. TR B A )y 7 %A
P-DTQ-J-DFPN/SA 45 [P.T.O.
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101. Which one of the following is
signified by the Moosa Goolam Aniff
v. Ebrahim Goolam Arnif case?

fa} The certificate of incorperaticn
is a conclusive proof of validity

{Bj The certificate of incorporation
is for the commencement of the
business

fej  The certificate of incorporation
places limit on the working of
the Directors

{ef Company can be revived after
dizsolution

102, Information Memorandum| as per
Bection 60 (B] of the { Companies
Act, 1956 is related 4o

fa} the Director’se’responsibility
statement

{b), corporate governanoe

{c) initial public offering

fd} accounting standard relating
to finance and investment
companies

P-DTQ-J-DPN/SA
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103, Statutory Report

{a} shall be prepared by Board of

{b}

fc)

{d)

Directors and  forwarded
21 days before the statutory
mesting

shall he prepared by the
Secretary and farwarded
21 days before the statutory
meeting

can be prepered by anyone
and therewpiz no/time period
prescribed

shall be prepared by the
guditor and forwarded 30 davs
befcre the statutory meeting

104. Which one of the following is the
penalty imposed  under  the
Companies Act for coentravening the
provisions relating to acquisition
and transfer of shares?

(e}

i)

{c]

fetf

Imprizonment for a termn
extending to three years or
with fine which may extend to
rupees fifty thousand or both

Imprsonment for a term
extending to six years or with
fine which may extand to
rupees ten thousand or both

Imprisonment for & term
extending to one year or with
fine which may extend to
rupees five thousand or both

Imprisonment for a tenm
extending to hve years or with
fine which may extend to
rupees twenty-five thousand or
both
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101, 1 e RS 9 SHNLT AW STE
¥r 4 fafaies § # #9-@ = gfim
w7

faf TFTHA R0 SH-9T Q4T &1 HaTTR
Gkl

fb) T = AT -us ST ST S

% fom &

fc) VMR = w-u3 g9@E F FiEt
=t ot Praifa w2 '

(d) fea & vm Tl = R ol

o s g &

102, Frafefem 4 @ e @ P uEasE
wfafaam, 1956 f qy'eliB) ¥ EER
T e -9 geafie &7

(o) T oL o
i frm s
fe) WRIOYE Hre=iT T -1

(d) T 3t fafedin st & arefim
TG H

P-DTQ-J-DPN/SA. -
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103, e viEe

foj FEvs aved g duw = wwoft sl
wifalew A7 @ 21 R g aifim
A Feh

) 8wE TN AEW W sofeih
wifafs de% @ 21 g sl
shY =t

fe) Tl % B0t B A E Al
+1¢ Traffa trm-offy 1 3

(d) @RGSR SAT i s s
Aifafi 35% 4 30 R @ st
B3 i

104, 7 % 3R o v & vyl &

T & g, e erfufem & s,
frefaftan 4 @ FR-m1 ™ = sfipke
il 27

{af ¥ =i w6 A sty & Bw swEm
g ot Rl 7 50,000 To
TR B gl @ T R

(b} & i 7 & FRY F fom Froam
. gEn Rl o 10,000 %o
T T Al & T T

fo) U T8 a% 1 @iy F B snemm
77 Tt ekt ofr 5,000 %o @
EET e i |

(d) =9 o 7% ® srafn F By s

a1 i feehl af 25,000 B
oF B Ot & o 2t

[F.T. Q.
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I105. Which among the following can issue
shelf prospectus?

(a)
{b)
{c!
fd]

Any company
Only public limited company
Any public financial insttution

Only private companies

106. Statutory meeting has to be called

e}

it

fef

fdl]

within six months but not
earlier than one month of
certificate of incorporation

within six months but ot
earlier than one month of
certificate af commencement of
businsss

any time within six months
of the certificate of commence-
ment of business '

any time within thres months
of an annual general meeting

107, Match List-I with ListII and select

the correct answer using the ¢ode
given below the Lists
List-T ListT
A. Doctrine 1. Kotla Venkata-
of indoor swami v
management Rammurtlyy
B. Untrue 2. Ashhury Railway
statement, in Carriage and Iron
Prospectis v. Riche
C.C Doctrine of 3. Green Wood w.
ultra’ vires Leather Shod
Wheel Co.
D. Doctrine of 4. Foyal British
constructve Bank v. Turguand
notice

P-DTQ~J-DPN/SA
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Code :

{al A B C D
2 3

4 1
) 4 B C D
4 3 2 1
) A B € D
1 3 2 a4
i A B Cc/ D
1 2 3 W4

108. Which one of the following
exceptions for dectrine of indogr
management was provided from
Eubern L. Great Fingall
Caonsolidated case?

faj Knowledge of irregularity
(b} Forgery
fc} Suspicion of irregularity

ff An act outside apparent
authority

4

109, The doctrine of indoor management
seeks to

fo}  protect outsider against the
' comparny

{h} protect company against the

oultsider

fe}  determine the relations
hetween Company ant
Directors

{d) determine the relationship
between Ditectors and auditor
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105. Tiefeiian 4 @ <9 Rl feor-ofE
frtfim v mamn 37

(af ®iE o B

(b))  aw ardwters fafing wh
fc} wiE A= i Tem
) wEe P it

106. it 335 yend < o &

fa) @ wE % sfw @ foma F
-7 % T e ¥ 9 T

) T "R % Wi BT =R g
T H T4 ¥ O AR B
Tet

fo} THME WP T % YHO-99 F w5
e & fie frft o wm

() TOHR AW B % oA WE F fE
Toreft ft mmy

107. §=t-1 | G- 3§ giftm fif @i

qiert & I R 52 % wEn el
mﬁﬁﬂ:
i Te=II
A IAHHETFI T 1. SiEciEsIHl
frg= AP T
B. fqam-uiy= # 2, T me Hh
O e g MEE F9H
fosit
C. Rl (ultra 3. W9 98 T &=

vitegh =i 3T g =rel e

D. waidd gEen = 4. T T &
forgra T s

P-DTQ-J-DPN/5A
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fej A B C D
4 2 3 1

fo] A B C D
4 3 2 1

fcf A B - D
1 3 2 4

fd] A B C D
1 2 3 4

108. ¥4 5979 I 50« TP 1% © a1
WU _Fniiam o Paafaige § 2
- ue Smyare faan o

fg)  silatEan ®1 9

fb) SmeraTsh

fc} iEfima 6 gfm

fd} ueaey WIRERE ¥ A R w e

109. I T+ w7 Tagr

fa) ol % Toeg @l =he A g
T T w8

fb) =l =fe & fmg S W ogen
I T 2

e} wED e famm! & mey sl %
fafm g s &

(d) TRos o wardes % T
TR o Truton &1 wae = 2

[P.T. O,
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110, Under Section 292A of the 113. Consider the following statements :

Companies Act, 1956, in which
among the following types of
companies is constitution of an
audit comrmittee compulsory?

Every public company having a
paid-up capital of not less than

fa) Tuapees one Crore
fb} rupees two crores
fol  rupecs five crores

{d} rupees ten crores

111. In which cne of the following ways 114
can the Secretary of a company be
removed from his office?

faj By a resolution passed in the
meeting of the Board of
Directors

{#) By an order of the Registrar of
the Companies

fcl By a resolation (passed in 115
annual general mesting

fel] By aspecial/order ofithe SEIBT

112. In which one of thefollowing theories
is it assumed that the psychological
forces shaping peoples’ hehaviour
are largely unconscious, and that a
person cannot understand his or
her pwn motivations?

fa} Maslow's theory
fb} Herzberg's theory
fej Freud's theory

{d) McGrepor's theory of X and Y

P-DTO-J-DFNfSA 50

Matrix organization is

1. maost suitable when a project
of a temporal nature is to be
exccuied

4. moslly seen in R&D and
engineering organizaticns

Which of the statements given
above isfare correct?

fat 1 only

f 2 only

fc}] Both 1 and 2
fd] (Reither T nor 2

. Whe among the following has

advaniced Transactional Analysis’
asuan explanation of interpersonal
eommunication strategy?

fa Thomas A. Hairis
fb} Eric Frank

fe)  Muriel James

{d] Eric Berne

., Under Secton 233A of the

Companies Act, 1956, in which one
of the [ollowing conditions special
audits of a company's accounts
may be ordered?

fa} The fnancial position of the
company is such as to
endanger its solvency

fb} The company is vielating its
articles of association

(¢} The memorandurm of
agsgeiation iz under dispute

fdf The company  has not
appended its memorandum of

explanation with the Balance
Sheet
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110, Frefl AffEE, 1956 oW 2024 & 113. Frafefios s w Beme $ifm
argen, fefafas 9 8 8 = v &

o & SrElen g W TR s Af w
wifrard 87 1, waits wugE 2 W s FeE
Wl & e Sy 6w 3
Weliw e F Pt gan 4h 2 5_:':." v B st s
{a) U S T A w3 WL # afrm RE dm 2
(b} @ g A AH T R e 4 @ S/ w ad /57
T S fa} FaE L
BRI EX
“ (b e 2
fd) =9 Wi &% # %9 72 B o 1o ‘
{dj Tar e fie

111, o Fof & ofg =5 9% 9T @

Frrieias 1 2 f v v A ==En o
T B

{fa) TRIrs Tvea 6w # Heew OfE
EaCn

(b) T oofias % amew wm
fc} M 39 |l | Heew oiE T
fa} Tt (SERD % oM smmwan

112. el 4 @ e ow fagrad a8 T

B TR @ & EEEilew e 1
TS T, A § a9 T 3
wat wfE TR % AP W e
ELK: Tl

faj, S =1 TergT
fop. estar! it Regrd
fe) WS T fage
fd} AT E X 7= ¥ 7 R

P-DTO-J-DPN/5A

114, 3raatas FHEv gRE ) saren & =9 #
ToER P W b 4 @ ‘
TRy sreqa Sen? |
faj ATH Te BiW
b} 3w §F
(e} Hitaw S |
) <hes =i

115. Fr sfyfam, 1956 i 4 2334 5
arar, i @ @ Bew o = &
T F ol B i Smfen |
HEW Fh 91 " 27

fof FERR £t farie Rfa i 2 from
T TS & T R

) T R w@wEn ¥ -emiiel W ‘
S T R
fe) HIUST weg fae | 2

(di HFE] A geR-UF & WY W w®
IO wern gl T R

51 [P.T. Q.
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Directions :

The following five (B) items consist of twe
statements, one labelled as ‘Assertion [A)
and the ather as Reason (R} You are to
examine these two statements carefully
and select the answers 1o theze iftems using
the code given below.

Code -
fa) Both A and R are individually

true and R is the correct
explanation of A

fo] Both A and R are imdividually
true but R is not the correct
explanation of A

fol A is true but R is false

{d} A is false but R is true

. Assertion [A) :

Sinking fund is a charge againat
Prafit and Loss Account.

Reason (R] :

Sinldng fund * is_(created for
repayment of a liability.

. Assertion [A):

When a company earns any profit
prior to incorporation, it is called
capital profit.

Eeason (R] :

Capital profit cannot be used for
distribution as dividend to the
shareholders.

P-DTQ-i-DPN/SA

Assertion [A) :

Audit means checking of the
arithmetical accuracy of books of
accounts and statements by
mechanical ticking of figures.

Reason (R :

Mere knowledge of AcCountaney is
not sufficient for auditing.

119, Agzertioft [(A) :

Themame of a company may be
changed by ordinary resclution
alsa,

Reason (R} :

The change of name shall be
complete and effective only an
the issue of fresh certificate of
incorporation.

120, Assertion (A] :

The powers of the Board of
Directors are coextensive with
those of the company.

Heagan (R} :

The Board of Directors of a
company is entitled to do all such
acts and things as the company is
authorized to do.
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Frw A

o ufe (5) wwwint # € aw=a £, vw @
e (A) T g A S (R) o 2B
AT T F BEUHTEE S0aT W R
I A= R gu g2 e § ghng

e

fa) ASRROAod £, sl R, A =
Tt Tl

B ARIAFHE, W R, AW
WE i Tff &

) ATHE, T R TR

fd) A TR, WA R W61 3

116, FY (A}
a5 o 7w w1 W ¥ g
I B

FR (R} :

Fam P =1 g== Redll 2w oy
& o fomar = 2

117. F97 (A) :

SH TR T T f ool w6 am
gﬁﬁm%,ﬁaﬁ%ﬁmwm
|

T (R :

Tofi o 7 Ferymet 8 o R ¥
Terg swa At fommr S aepamy

P-DTO-F-DPN/SA
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118.

11%.

120,

F (A) :

vEden w1 oo ¥, 9@ geaw am
femmtt i smnfireda w71, o= =
Wit 71 @ fafem (Re) Fa g
e |

TR (R) :

dElaT % fom vEE W B g
Tatn T2 2

% (A

T<E SHITET AT TTHY 6909 gt
wiEia e < gt 21

=TT (R :

e F w13 3 fol w @
=1 aftad qof aen g

HEYA (A) :

T mvge § Ai, et it wheat
% 91 wE-fawga ¥

SR (R :

+ordt % TR woee d m w0 %
TG &, o Tl 0 % Ry i
d

[P.T.O.

www.examrace.com
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& 3t 5. : P-DTQ-J-DPN TiteTor geaeeT FgEEn
TR WAl 8937
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T ;B TR YuTih : 300
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1. writgn W B 6 e Wi, ang 39 e g $Y gsare seva s # T sad wi e o, wer
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2. F-UAF B ol e o it g sgEm A, B, C W'D merfEfy e @ gzag friwg)

3. W vy e | we T By e T 4 3 A
e T ¥ wlter gfe w e g T R

4, vg wisw g § 120 wwim (9w) Re me Sessmaen ) s siteft & o ¥ wdw weniw # =w
wegwe () e e ¥ i | o R o, Ml e - W it w5 awd § ) ol st d
o 6 T & S o e %, < 70 e ) P X S STrR WA e | NEr S & fo e

uE et 3 R

5. M9 it ot yepm awm @ B omiwems ot sifa st # ) I § fmome w2t

6. ot TEEH S wE 5OE F

7. 200 o 7% sm olwmegiee & e wwd o sewmE w il s gE o, s e
YAO-TA % WY Wi SR % S o e anems § o

B. WM 3 Tt TR OIS O WA F SR O e & TEee W Ree TR-UAE e A A
Ao e g wiem gféem 2 s w2

g, F= wm & o T viym gfemm e wow §
10. A el & o T
e We-wE # InieEm g fig Ty e seit W fem eww feEn s
{i) P o % Rm AR SwfRe T ¥ 1 Iefigan o v v % e Ry moww mem I E e v B
frra fm o R W wE-frd (0-33) 9= & w9 § F= Smm
i) 2 = sodfEn wE ¥ afts T A, @ e g A snem, Taft Ry v sl 4 & o e wd
T &, fm o 3w v F g sfrgm @ S aw w1 e o o

{iii) af2 IefEER Z0 wH v gw T fen ST B sraln, TefeER g I e T A 2, A 3R TR F T
w1 Fvz T R )

W A% AOFT ¥ Tiem gftrest Sied W T % WY 69 96 7 @i

Note : English version of the instructions is printed on the front cover of this Boolklet.
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